1. Look at the first paragraph (lines 1-10)

(a) By referring closely to these lines, show how you are helped to

understand the meaning of the expression "diverse cultural heritage"

(line 7).
Diverse means that there are many different types while cultural heritage refers to the backgrounds and traditions of people.  The writer refers to a variety of different nationalities (Polish, Russian, Jewish, Irish, Asian) who now live in Glasgow and this suggests that they are from diverse backgrounds.

(b) Referring to one example of effective word choice in this paragraph, show how the writer makes clear her positive attitude to the people she

is describing.

The word ‘vibrant’ has connotations of something lively, colourful and dynamic and the writer uses this to communicate the positive contribution these people make.  The word ‘enriched’ also suggests that some sort of quality is added to Glasgow by these people rather like spices etc improve the flavour of food.
4. Read lines 27-50.

(a) Explain in your own words the "two things" which, according to the writer, "all of these immigrant populations ... have in common" (lines

27-28).

· they all came here because of financial circumstances and to make more money

· they have all added something positive and helpful to our country

(b) Show how the writer's word choice in the sentence "That is ... and work" (lines 31-34) makes clear her attitude to certain politicians.

Refer to two examples in your answer.

‘Hysteria prone’ has connotations of something wild and unstable which simply erupts with uncontrolled emotions which suggests a negative attitude to politicians who stir up trouble.  The word ‘devise’ suggests that these politicians are scheming in a nasty way to prevent immigrants from entering the country.

(c) How does the writer's language make clear her disapproval of any one of the proposed measures referred to in lines 35-50?

The writer talks about how they want to ‘clamp down’ which has connotations of violently suppressing something and he also talks about how ‘obscene’ the money that immigrants have to pay is.  This negative emotive language suggests the writer’s negative attitude towards these measures.
The writer creates a sympathetic tone towards the immigrants and talks about how they are being ‘denied the harmonising effect’ and how politicians will ‘prevent natural integration’.  The contrast between the negative ideas of denial and prevention with the writer’s positive wish for harmony and integration shows his disapproving attitude.

5. (a) Referring to specific words or phrases, show how the sentence "Yet ... misconceptions" (lines 51-53) performs a linking function in the writer's

line of thought.

‘this ever more draconian approach’ refers back to the harsh proposals discussed in the previous paragraph.  ‘a number of misconceptions’ leads into/ introduces the discussion in this paragraph about how people are mistaken in their opinions.  The word ‘yet’ indicates that the focus of the passage is about to change to a contrasting point.
(b) Discuss how effective you find the writer's use of imagery in lines 51-70 in making her point clear. You may refer in your answer to one or

more examples.

Just as ‘swamped by a tidal wave’ suggests a massive unstoppable force which suffocates and drowns so the writer effectively highlights the mistaken view of those who think that far too many immigrants are arriving and taking over our country.

The image of ‘trickle’ is effective as it literally refers to a tiny amount of water slowly dripping from a tap. The writer uses this figuratively to suggest that in reality there are few immigrants arriving in Scotland and they are barely noticeable in comparison to other places.
7. Show how the writer uses sentence structure or tone to demonstrate her strength of feeling in lines 101-109.

The writer repeats a number of imperatives – ‘we must, we need, we cannot’ – to create a passionate and forceful tone to urge us to do something.  The repetition of ‘we’ creates the idea that everyone is responsible for this.

